Efficiency vs P,

~ 0.5

o
2 0.09

)

c 0.08
)

0.07
0.06
0.05]
0.04
0.03
0.02
0.0

e

Ratio
Ne)

S
o L
A A
e I O
= [ A
= [ A
SR . T SRRLEITIERRS
ST | BT BT R
....... 8 U S AP
... 0 e
R
E 4

= 0.2

O U

—=— DQM_mkFit_newBASE3
—e— DQM_mkKFit_new
—— DQM_mkFit_newANDPL

2
20.18
2
§0.16
o
£0.14
(]

0.12

0.1

0.08
0.06)
0.04
0.02

Vs

Ratio
N

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04

0.03f:
0.02}
0.0}

.............................

&
*

e I L LR ILRRE R RN R RR

Ratio

il

o.6f-




	Contents
	Page 1


